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QUESTION 1

Which is one way that aruba instant on devices offer security tailored to the needs of your target customers.

A. They contact central aruba to receive centrally defined security policies to protect wired and wireless access
B. They support dynamic segmentation so they can offload security enforcement to aruba gateways

C. They automatically update their software to ensure they stay safe without extra customer attention.

D. They integrate with aruba Clearpass and enforce granular, user-based policies for micro-segmentation

Correct Answer: A

QUESTION 2

You have proposed an Aruba wireless solution to a hospital with very high availability requirements for the wireless
network. Which feature of Aruba solutions should you explain provides seamless failover and live upgrades for mobility
controllers?

A. live mobility tracking with Aruba Meridian

B. connectivity Health in AirWave or Central

C. clustering with ArubaOS 8.x and above

D. AirMatch and ClientMatch with Mobility Master (MM)

Correct Answer: C

QUESTION 3

A customer complains about the complexity of wired network architectures? What should you explain about ArubaOS
switches?

A. Network Analytics Engine (NAE) analyzes network traffic patterns and automatically reconfigures the network
architecture in order to optimize traffic flows.

B. ArubaOS switches deliver the high performance and features that enterprise customers need combined with the
simplicity of an unmanaged switch that requires zero configuration.

C. Dynamic segmentation divides the wired network architecture into three logical tiers, making it simpler to deploy the
switches with less work on the part of managers.

D. Aruba switches bring performance, security and operational simplicity to enterprise networks with innovations like
Segmentation and Aruba Network Analytics Engine.

Correct Answer: D
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QUESTION 4

What is one way that an Aruba SD-WAN solution transforms a company\\'s WAN?

A. It requires all traffic to pass through security appliances in the data center before exiting to the Internet.

B. It enables the company to use a mix of MPLS. Internet, and LIE uplinks to connect branches to the data center.
C. It replaces expensive appliances for providing WAN uplinks win WAN software that runs on Aruba CX switches.
D. It increases specialization for branch equipment, so that a single appliance is no longer expected to

handle security and connectivity.

Correct Answer: B

QUESTION 5

You are beginning a conversation about Aruba ESP with a customer. You ask about the size of the IT team and the
tasks on which the team spends its time. What goal should you be trying to achieve with this question?

A. Explaining to the customer why the company needs to expand its IT team to stay competitive

B. Revealing that the IT team lacks expertise and presents a good opportunity for you to upsell Aruba Training
Solutions

C. Determining whether the customer has a large enough IT team to be able to succeed with a complex enterprise
solution like ESP

D. Discussing with the customer how IT could achieve more rf resources were freed up by Aruba Central

Correct Answer: A
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